'234d 128 d7F 234 =245 (8HA)
et M=, B, %, $/kg
== ‘234 128 (2hd) SUE(HE) 23 128 (5A|) ZUE(FA) &) TEHIHEA) EHELE)
= o = = o =2 = A = = o =& ‘2244 234 ‘2244 ‘234 =g A

A=MF 84,424 62,322 -5.1 -2.2 1,061,022 769,066 -5.6 1.9 1.40 1.35 1.49 1.38 -3.0 -7.3
RS RS RS 11,274 1,821 102.7 36.0 80,680 14,029] 48.7 7.7 4.15 6.19 4.17 5.75 49.0 38.1
HRYR 95,698 64,143 1.3 -1.4 1,141,701 783,095 -3.1 2.0 1.45 1.49 1.53 1.46 2.7 -4.9
oA FAL 5,650 1,388 —42.2 —-42.7 93,419 19,005 -20.7 -7.1 4.03 4.07 5.76 4.92 0.9 -14.7
— AA} 0 0 - - 2 0 - - - - - - - -
= ZA} 524 28 -5.9 -39.7 21,147 1,071 -12.0 -10.3 12.21 19.04 20.12 19.74 55.9 -1.9
— HA} 3,874 1,147] -50.7 -48.0 53,448 14,922 -26.5 -5.1 3.56 3.38 4.63 3.58 -51 -22.6
— ORAL & 7| EfAL 1,252 213 -8.1 24.4 18,823 3,012 -10.6 -14.8 7.96 5.88 5.96 6.25] -26.2 4.8
=N FEA AL 74,674 19,340 -22.0 -19.4 1,074,185 251,687 -17.1 -21.7 3.99 3.86 4.03 4.27 -3.2 5.9
QI =4 7 BHE AL 1,868 205 -39.7 -34.3 28,364 3,058 -21.3 —26.1 9.94 9.12 8.70 9.28 -8.2 6.6
AL 82,193 20,932 —24.4 -21.7 1,195,968 273,749 =178 -20.9 4.06 3.93 4,19 4.37 -3.4 4.3
HEE 1,578 20 -18.1 -22.0 24,207 271 -13.5 -3.2 74.61 78.33] 100.02 89.40 5.0 -10.6
2AZ 1,611 95 9.9 46.4 32,617 1,652 8.1 6.9 22.66 17.01 19.53 19.75] -24.9 1.1
HAE 21,622 1,373 -6.9 -13.4 256,828 17,531 -10.7 -15.4 14.63 15.74 13.87 14.65 7.6 5.6
AN REE 119,239 10,693 -12.9 -16.1 1,321,119 127,747 -9.3 -8.8 10.75 11.15 10.40 10.34 3.7 -0.6
Q=M RAE 24,838 1,705 -11.7 -19.7 233,873 19,239] -15.7 -15.6 13.25 14.57 12.18 12.16 9.9 -0.2
HAE 158,192 18,437] -10.1 -15.3 1,788,931 226,361 -20.6 -18.7 8.09 8.58 8.09 7.90 6.1 -2.3
I=ESE 124,556 15,879] -10.1 -10.7 1,498,584 196,543 -13.1 -14.5 7.79 7.84 7.50 7.62 0.7 1.6
H73E 451,636 48,203 -10.8 -14.0 5,156,158 589,344 -14.9 -15.1 9.03 9.37 8.73 8.75 3.8 0.2
o7 199,269 7,232 -1.0 -13.9 2,093,379 78,526 -4.0 -12.7 23.96 27.55 24.24 26.66 15.0 10.0
- HAH 2 F 69,584 2,597 6.9 -0.4 767,651 26,264 3.9 -8.9 24.98 26.79 25.62 29.23 7.3 14.1
- X Z2H el 106,630 3,640 1.4 -18.6 1,021,913 38,967 -1.1 -13.0 23.53 29.29 23.08 26.23 24.5 13.6
-do|7 2 J|E 2,456 76 -8.4 -21.2 35,519 859 -14.5 -13.6 27.83 32.36 41.77 41.33 16.3 -1.0
- ol & LA MzE| 20,598 919] -27.3 -25.2 268,296 12,436 -26.6 -18.8 23.07 22.41 23.87 21.57 -2.9 -9.6
Bt 47 E 104,499 30,738 -17.4 -16.6 1,334,756 417,458] -7.0 -1.9 3.43 3.40 3.37 3.20 -1.0 -5.2
HIHE 303,768 37,970 =7+ -16.1 3,428,135 495,983 =52 -3.8 7.24 8.00 7.01 6.91 10.5 -1.4
o7& A 933,294 171,248] -10.0 -11.3 10,921,963| 2,142,172 -11.2 -7.8 5.37 5.45 5.29 5.10 1.5 -3.7




239 128 H7F F5E T4y (28x)
Rl ME2, B, %, $/kg
- 5 234 128 () SUE(HE) 23 128 (5A) SUE(FA) SRIEZHEE) TATHEFA) EHELE)
= o =& = o =2 = A = = o = ‘2o 234 204 ‘234 =g A

A=MF 4,029 2,286 -8.9 -15.8 52,883 28,787 -7.8 -6.9 1.63 1.76 1.85 1.84 8.2 -0.9
7 11,045 2,085 -6.0 -24.3 142,590 24,738 21.3 -13.6 4.27 5.30 410 5.76 24.2 40.5
HRYR 15,073 4,371 -6.8 -20.1 195,473 53,525 11.8 -10.2 2.96 3.45 2.94 3.65 16.6 24.4
HoAM FAL 36,071 10,1400 -15.0 -8.1 474,314 123,752 -26.5 -8.6 3.84 3.56 4.76 3.83 -7.5 -19.6
— AA} 447 ol -45.7 -41.5 6,012 83 -3.5 4.7 79.09 73.35 78.47 72.39 -7.3 -7.8
- A} 2,465 105 -7.5 -13.0 52,034 1,948 -15.9 -7.2 22.01 23.40 29.49 26.71 6.3 -9.4
- HA} 29,287 9,405 -15.9 -8.5 366,885 113,212 -29.4 -8.9 3.39 3.1 4.18 3.24 -8.1 -22.5
— ORAL & 7| EFAL 3,871 623 -5.4 -0.2 49,383 8,509] -13.8 -5.0 6.55 6.21 6.39 5.80 -5.2 -9.2
=N TR AL 82,984 47.166] -15.6 3.0 1,112,451 571,285 -9.3 7.6 2.15 1.76 2.31 1950 -18.1 -15.7
QI =4 2 E AL 14,560 5,231 -25.5 -20.3 212,610 75,423 -28.0 -13.2 2.98 2.78 3.40 2.82 -6.6 -17.0
o FAL 133,615 62,537] -16.7 -1.4 1,799,374 770,460 -17.0 2.3 2.53 2.14 2.88 2.34] -15.5 -18.8
HEE 1,686 150 -25.0 -29.7 21,878 192 -18.3 -18.1 106.43| 113.56] 114.19[ 113.82 6.7 -0.3
2 E 6,238 8] -14.2 -30.2 112,297 1,379 13.1 0.2 74.40 91.44 72.10 81.43 22.9 12.9
HAE 20,613 3,769] -10.4 -7.6 304,869 61,206 -11.0 5.1 5.64 5.47 5.88 4.98 -3.0 -15.3
A= REE 13,726 2,341 -15.3 -13.2 156,156 26,2000 -17.1 -10.6 6.01 5.86 6.43 5.96 -2.4 -7.3
Q=M RAE 17,975 3,629 -22.1 -14.7 242,635 46,291 -7.9 0.9 5.57 5.09 5.74 5.24 -8.6 -8.7
HAE 10,379 1.820] -17.9 -51 113,127 20,173 -37.3 -36.9 6.59 5.70 5.64 5.61 -13.5 -0.5
I=ESE 90,308 22,806 -12.3 -6.2 1,185,421 303,419 -9.3 2.5 4.22 3.94 4.42 3.91 -6.5 -11.5
3= 160,925 34,439 -14.1 -7.9 2,136,382 458,860 -11.3 -0.9 5.01 4,67 5.20 4,66 -6.8 -10.5
o7 885,899 39,937 -8.6 -0.4 12,607,894 506,825 -2.4 0.5 24.18 22.18 25.63 24 .88 -8.3 -2.9
- HAH 2 F 324,788 14,214 -13.0 -3.2 4,768,683 187,339 -4.6 -0.7 25.45 22.85 26.51 25.45] -10.2 -4.0
- X Z2H el 458,602 17,224 -5.3 0.8 6,705,645 227,421 -0.7 1.0 28.34 26.63 30.01 29.49 —6.1 -1.7
-do|f 2 J|E 23,620 1,858] -13.3 -3.9 307,098 22,8708 -13.3 -15.3 14.09 12.71 13.12 13.43 -9.8 2.4
- ol & LA Mzl 78,889 6,641 -6.4 3.9 826,469 69,195 1.2 8.8 13.19 11.88 12.84 11.94 -9.9 -7.0
7Bt 47 E 178,133 41,325 -2.7 -3.9 2,134,228 503,087, —-4.2 2.6 4.26 4.31 4.54 4.24 1.3 -6.6
7= 1,064,033 81,262 -7.7 -2.2 14,742,122 1,009,911 -2.7 1.5 13.87 13.09 15.23 14.60 5.6 4.2
H7F A 1,373,646 182,609 -9.4 -3.6 18,873,352| 2,292,757 -5.2 1.0 8.01 7.52 8.77 8.23 —6.1 —6.1
Fo K| —440,351 -8.1 —7,951,389 4.6




